0< 6<20mrad

05|

04

03]

02|

100 < 6 < 120 mrad

200 < 6 < 220 mrad

20 < 6 < 40 mrad

120 < 8 < 140 mrad

220 < 6 < 260 mrad

o

40 < 8 < 60 mrad

60 < 8 < 80 mrad

0014

0.006

0.004

0.002

140 < 6 < 160 mrad

160 < 6 < 180 mrad

80 < 8 <100 mrad

180 < 8 < 200 mrad

260 < 6 < 300 mrad

300 < 6 < 340 mrad

340 < 6 < 380 mrad




0.004

20035

0.003]

2.0025]

0.002]

2.0015|

0.001

2.0005

0< 8 <20 mrad

20 < 8 <40 mrad

100 < 8 < 120 mrad

40 < 6 <60 mrad

60 < 8 < 80 mrad

200 < 8 < 220 mrad

120 < 6 < 140 mrad

220 < 6 < 260 mrad

140 < 6 < 160 mrad

160 < 0 < 180 mrad

260 < 6 < 300 mrad

300 < 6 < 340 mrad

80 < 8 <100 mrad

180 < 8 < 200 mrad

340 < 6 < 380 mrad

—
02 02
—_—
01 01 —
Liaal 1 1 1 1 1 1 1 1 1 1
4 45 05 1 15 2 25 0.2 04 06 08 1 12



0< 8 <20 mrad 20 < 8 <40 mrad 40 < 6 <60 mrad 60 < 8 < 80 mrad 80 < 8 <100 mrad

0.009]

0.008]

0.007|

0.006]

0.005|

0.004]

0.003]

0.002

0.001f

100 < 8 < 120 mrad 120 < 6 < 140 mrad 140 < 6 < 160 mrad 160 < 0 < 180 mrad 180 < 8 < 200 mrad

200 < 8 < 220 mrad 220 < 6 < 260 mrad 260 < 6 < 300 mrad 300 < 6 < 340 mrad 340 < 6 < 380 mrad
osf o6
osf osf
—
04f 04

0z 0z ——




0< 8 <20 mrad

0.008]

0.006]

0.004]

0.002

20 < 8 <40 mrad

100 < 8 < 120 mrad

40 < 6 <60 mrad

60 < 8 < 80 mrad

200 < 8 < 220 mrad

120 < 6 < 140 mrad

140 < 6 < 160 mrad

160 < 0 < 180 mrad

220 < 6 < 260 mrad

260 < 6 < 300 mrad

300 < 6 < 340 mrad

80 < 8 <100 mrad

180 < 8 < 200 mrad

340 < 6 < 380 mrad

045 0.45f
oaf 0af
035 03sE
03 I 03f
-
025=I-| o.25-+
—

02F 02F
0.15 015
0.1= m— 0.1
0.05F 0.05

1 1 1 1 1 1 1 1 1 1

05 1 15 2 25 05 1 15 2 25



0< 8 <20 mrad 20 < 8 <40 mrad 40 < 6 <60 mrad 60 < 8 < 80 mrad 80 < 8 <100 mrad

100 < 8 < 120 mrad 120 < 6 < 140 mrad 140 < 6 < 160 mrad 160 < 0 < 180 mrad 180 < 8 < 200 mrad

200 < 8 < 220 mrad 220 < 6 < 260 mrad 260 < 6 < 300 mrad 300 < 6 < 340 mrad 340 < B < 380 mrad
o0ssf o 3
o3 osb
o025 025
i s
-
02 02 [}
—]
01sf 015
o 01f
oosf oosf

05 1 15 2 25 05 1 15 2 25



0 < 6 <20 mrad

80 < 8 < 100 mrad

AL AL ”

N
IS
o)
o|

10

220 < 8 < 260 mrad

=)

20 < 6 <40 mrad

100 < 8 < 140 mrad

260 < 8 < 300 mrad

40 < 8 < 60 mrad

140 < 6 < 180 mrad

60 < 6 <80 mrad

o
b=y
3

0.04f-
0.02f
|
2 6 B 10 12 14
180 < 8 < 220 mrad

°
o
3

T




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6


